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Q.1] (A) Match the following: (Any Eight) : :
1 | Revised Return A Exemptron of: 1500/- ;
2 | Income of minor child B | 30® September sl nd
3 | Section 60 C | Long term capxta} Gain_
4 | Long term capital loss D | Omrssron or wrong: statement is’ d 0 red i
5 | Section 1941 E<] Payment to Resident contractor.’
6 | Section 194 C F.| Trrevocable Transfer =~ ..
7 | Due date of filing of return of company .G | Speculative Income
8 | Dividend from Indian company W15 .September
9 | Speculative loss 1] Exempt w/s 10
10 | Due date of payment of Advance Tax for an 1nd1v1dua1 A .:"TDS on rent
Q.1] (B) Fillin the blanks:  (Any seven) " (7 Marks)

1. Speculative loss can be set-off against ; 4N
a) Speculative Income b) Business Incom c) Incom fr
2. Capital loss can be carried for asseSsmen
a) 16 b)8 c)4. L5
3) Carried forward business loss can. be set-off agamst
a) Any head of income b) busmess proﬁt
4) aims to prevent tax avmdance by diversion of inci
a) Double Taxation b) Clubbmg of mcome e
5) Minor child includes o e
a) Step  b) neighbour - , :
6) The prescribed form of Income tax: fetum for compa
a) ITR 1 b)ITR6 c)ITR4 : :

other sources:. . -

,; 1 X c) Short term capital gain.
8) Transfer of i mcome w1thout tranS of ; asset would betaxable in the hands of
a) Transferor only b). Tran ¢) the person who } ashi gher income .
9) How many trmes revised return can be revised? ; '
a)one time b)-two times ¢) 1 three tlmes d) any number of times as nothing specified in the
Income Tax Act regardlng this. & F &8 , 3
10) Comnanv assesses are: requrred to pay advance tax 3 .
a) Two mstallments b) three mstallments c) four ‘installments.

Q. 2] (A) Mr Mohan prov1des the followmg pamculars of the assessment year 2017-18: (8 Marks)

Partrculars e ; Rs.in Lakhs

[ Income from house. prope_' : 3.00

' Income from other § source iy 2.00

| Income from business” - o 5.00

| Loss under the head Income from ‘other sources’ of Mrs. Mohan (to be clubbed with the 1.00
income of M. Mohan) )

Salary received by Mrs. Mohan (to be clubbed with the income of Mr. Mohan) 6.80

Professional income of Rohan (minor child of Mr. Mohan) from singing 2.00

Compute the total income of each family member.
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for the year ended 31-03-2017

Particulars

Income from Salary

Income from Profession ( Professional fees
received as a Artist) ; ‘
Interest on Fixed Deposits T8 3000 ) o) >
Calculate net taxable income of Mr. Sanjay and Master Rohan for Assessment year 201 8
applying the provisions of clubbmg of income.

OR

Q.2] Compute the taxable income of Mr. Dipesh for-fhe

Particulars’
Net Income from Chemical business 3
Interest on Saving Bank Account
Share of Profit from a Partnerslnp Concern
Short term capital Gain on Land" :

“01,20,000

Short-term Capital Gain on House Pr
Share of income from HUF+in-3 S 2,82,000 }
Winning from Horse Racé 10.000
Interest on Bank Deposusa‘,
-Deposit in his owmname 4,000
- In the name of nnnqr 1,300
49,000
12,000

(15Marks)

raruculars o “Particuiars | KS |
To Sal@rles a.nd Wages By Gross Profit 9,00,000
To S By Dividend from UTI (ETSP) 19,000
'| By Dividend from Indian Co. 50,000
By Interest on FD with BOI 50,000
- 18,000
78,000 )
1,20,000
24,000
Canil " : 24,000
S eTas Advertrsemcnt Expense vel 18,000
SN i > NefProﬁt : i~ 3,00,000
P B Total
10,19,000 10,19,000
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Additional Information:

a)
b)

<)

(a) Basic Salary Rs. 25,000 pm
(b) Dearness allowance @ 50% of Basic Salar
(c) House Rent received Rs. 1,000 pm (Exem
(d) Voluntary retirement compensation recé ed
(e) Gratuity Received (fully exempt) Rs. Q ,00;0¢
(f) Commuted pension (1/3 Exempth 0

(g) Uncommuted Pension Rs. 5, 000 m

est1mated income. 1s as follows

B ';}XYZ ﬁrm made the followmg payments of advance tax during the previous year 2016-17:

information for the year ended 31% March 2016.

(i) Professional Tax paid Rs. 2 50 s g
(j) He had given a loan of Rs. 2 OO 000 to hls

(k) He pald Medlcal Insuranc

Salaries include Rs. 1,50,000 paid to working partner Shah and Rs. 6000 )
Interest paid includes Rs. 60,000 being interest paid to partner Me 2

interest ¢ SR
The firm purchases goods in case of one bill for Rs. 1,25,000 for | h"ch N

cash.

15,000 as interest on loan.

£ O as maxks)
; r the previous year 2016-17 his

Part1culars i Rs Rs
Estlmatedgross salary 12,40,000
Less: Devansh contnbutlon t 1,28,800
Tax: deductlon at source by employe S S S 1,01.880
TaKGHOMEPAY, - 37 o o A S o0 8 o 10,090,320
;:Estlmatcdb nkmterest ‘ A s ok 1,00,000
‘ ion 10,000
Rl Net mterest hkely toberecevved by X from bank 90,000
"?‘:,.\E\Calculate the advancé tax payable’by Mr I)evansh for the financial year 2017-18.
OR
S (15 marks)

: : Rs In Lakh
; September 15 2016 7.00
A ,,\;December 15, 2016 ‘ 7.75
S March 15 2017 13.00
: 27.75
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The return of income is filed on 31.07.2017 showing
Business Income

Long Term Capital Gain Taxable @20% (as on 01-12-2016)
Compute interest payable u/s 234C

Q.5] A) Explain the significance of clubbing of income.

Q.5] Write short notes on: (Any Three)
a) Substantial Interest
b) Revocable Transfer
¢) TDS from commission or brokerage w/s
d) Unilateral Relief oy
e) Tax liability of firm

“
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